Revision Exercise (Functions)

1. a)

(i) z(z — 1)
(if) 22 — 1

1. b)

(i) 423 + 22 + 122 + 3

(ii) 2? + 4z + 4

1. ¢

(1) —ba® +5ba? + 22 —2

(i) bz —z — 1
1. d)
(i) 3z% — b2

(i) 22+ 3z — 5
1. e)

(i) 322+ 2z -2
(i) 3z + 2

1. f)

(i)1-1
(i) L +2—7

1 g)

. 3z(x+1)
O) Graers

s\ dx2414x+4
(i) e

1. h)

(i) va(2e +1)
(il) vz + 27+ 1

i\ —222da44
(i) T¥aera)
: 22 4-5x+4

(1 ) 3xJ(rx+J?:)

(iii) /7 — 22 — 1
\/5

(iv) 2w+l

(v)z—1
(vi) x — 1
(v) 42 + 13

(vi) (4o +1)*+3

(v) 3 — ba?
(vi) 5(1 —x)* -2

(v) 3z —5)*
(vi) 3z — 5

(vii)

(viii) 2 — 2

(vii) 16z + 5
(viii) (22 +3)? +3

(vii)

(viii) 5(bz? —2)% — 2

(vii) x*

(viii) 92 — 20

(vii) & + 10

NN

xr —

AT,

(viii)

(vii)

(viii) 2 — 14

.o 2

(vii) 2”?;5

9x
Tr+16

(viii)

(vil) vz
(viii) 4z + 3



a) {—4,-2,0,2,4,6}
b) {—3,-2,-1,0,1,2}
3.

a) {y >3,y e N}

b) {y > 16,y € R}

4,

a) {0,1,2,3}

b) {-3,-2,—1,0}

5.

a) Surjective
b) Not Surjective

a) Not a function
b) Not a function
7.

a) Bijective
b) Bijective

8. a)

(i) 122 +4
(i) 12z + 1

8. b)

(i) 22 +1
(ii) 22 + 2

c) {0,1,4,9}
d) {2,4,8,16,32}

¢){y>1,yeR}
d) N

c){r>-2,zeR}
d) {z >3,z e R}

¢) Surjective
d) Not Surjective

¢) Function
d) Not a function

c¢) Not bijective
d) Bijective

21 2 1 2
e){$3.533

f) {_17 _%7 %7 1}

f) {1 <y<3,yeR}

e) Not Surjective

f) Surjective

e) Function

f) Function

e) Not bijective
f) Bijective

(iii) {16,28,40, 52, 64}
(iv) {13,25,37,49,61}

(iif) {—5, —3,

—1,1,3,5}

(IV) {_47 _27 07 27 4: 6}



(i) (x + 1) (ii) 22 +1 (i) {0,1,4,9,16} (iv) {1,2,5,10}
8. d)

(i) 525 (i) {55+ 57 25 19 15

() 2 +1 (iv) (3540

8. e)

(i) sin(3) (if) 3 sinz (ifi) {0,1, 4} (iv) {~3,0,3}
9. a)

(i) 2z — 2 (i) 2z — 1 (iii) (=2, 00) (iv) (=1, 00)
9. b)

(i) 3z +1 (ii) 3z +3 (iii) [~2, 00) (iv) [0, 00)

9. c)

(i) z+3 (ii) 4+ 9 (iii) [6, c0) (iv) [12, 00)

9. d)

(i) (= — 2)? (ii) 22 — 2 (iil) [0, 00) (iv) [~2, 00)
9. ¢)

(i) 27+ (ii) 2* + 1 (iii) [2, 00) (iv) [2, 00)

10. a)

(i) Function (i) D = {1,2,4,5,7}; R ={2,3,5,6,8}
10. b)

(i) Function (ii) D = {-1,0,1,2,3}; R = {0,1,4,9}



10. ¢)

(i) Function (ii) D = {5,6,8,9,10}; R = {5}

10. d)

(i) Not a function (i) n/a

10. e)

(i) Not a function (ii) n/a

10. 1)

(i) Function (i) D = {2,3,4,5,6); R = {4,8,16,32, 64}
10. g)

(i) Function (i) D = {1,2,3,4,5}; R = {5}

10. h)

(i) Not a function (ii) n/a

11.

a) R c) [3,00) e) R7{1} g) {reR:az+#25}
b) R d) R™{2} f) R h) [3, 00)

12.

a) Many-to-one ¢) Many-to-one e) One-to-one g) One-to-one

b) One-to-one d) Many-to-one f) One-to-one h) One-to-one

13.

a) (i)x—1 c) (i) 3z —1 e) (i) 2;:31

b) (i) #5° d) () 525 f) () =557



ii)gt=2-3 =[4, 00 =11, 00
3 D, 1= ;
g [4,00); Cy—1 = [1,00)

(11) g—l r—2,
— 2. D = -
3 9 2, 32]; Cy— 0, 10]

ii)gl=4—x
— I D -1 =
g 0, —16); Cy-1 = [4,20)

(i) gt = 5%
5 _Dgfl = (0, 10); Cgfl = (3,8)

(11) g—l — 4z+41,
Dgfl = [%, 1]; Og—l = [5, 10]

xT I

(i) g7' =1+ 2%
T, _Dgfl = [0,4]; ngl = [1, 17]



